Name: 

 Second Prelim 


ECON 102 – Professor Steven Kyle



April 8, 2008

PART I: Multiple Choice/Fill-In. 10 points (each question is worth ½ point).  

1.  According to Keynesians, the main cause of instability in the economy, generating business cycles, is 
     instability in:
a) Consumption spending
b) Investment spending
c) Government spending
d) Exports
Answer: B
2.  The velocity of money measures:
      a)    The rate of inflation for an economy
      b)    The ratio of GDP to the money supply
      c)    How fast money is created
      d)    None of the above
Answer: B
3.  Which of the following statements is correct?
a) Government deficits tend to increase when GDP decreases
b) Government deficits tend to increase when GDP increases
c) Supply-side policies will always increase the budget deficit
d) None of the above
Answer: A
4.  Which one of the following conditions will cause households and firms to increase their holdings of 

     money?
      a)   An increase in the price level
      b)   An increase in real GDP
      c)   A decrease in interest rates
      d)   All of the above
Answer: D
5.  Suppose a nationwide natural disaster occurs and the federal government responds by increasing direct 
     transfers to individuals.  Then in equilibrium, we would expect:
      a)   The price level to increase and the effect on aggregate output to be uncertain
      b)   The price effect to be uncertain and aggregate output to decrease
      c)   The price level to increase and aggregate output to increase
      d)   The price level to decrease and aggregate output to decrease
Answer: A
6.  According to rational-expectations theory, the difference between the actual and expected price level is 
     called:
      a)   The “inflationary gap”
      b)   The “expected price differential”
      c)   The “Lucas price response”
      d)   None of the above
Answer: D
7.  The price of a stock included in the Dow Jones Industrial Average (DJIA) should equal:
      a)  Its price-earnings ratio
      b)  The discounted value of its expected future dividends
      c)  The stock’s share in the DJIA
      d)  All of the above
Answer: B
8.  If costs and the price level rise and fall by exactly the same percentage in the long run, then:
a) The long-run aggregate supply curve is vertical
b) The long-run aggregate supply curve is horizontal
c) The long-run supply curve is first horizontal, then vertical
d) Potential output increases at a constant rate when fiscal policy is expansionary
Answer: A
9.  The relative-wage explanation of unemployment suggests that:
a) The relative productivity of workers decreases with the wage rate
b) Relative wages remain stuck below the market equilibrium wage
c) Workers accept wage cuts only when other workers accept similar cuts
d) All of the above
Answer: C
10.  If the aggregate demand curve shifts outward and the aggregate supply curve shift inward, then in 

       equilibrium:

a) The Phillips Curve will shift inward
b) Aggregate output will increase
c) The price level will increase
d) None of the above
Answer: C
11.  Suppose deficit targeting legislation is passed by the U.S. Congress.  Then a decrease in the money 

       supply causes:
a) Tax rates to increase and government spending to increase
b) Government spending to decrease or tax rates to increase

c) An increase in the deficit to a target level
d) Transfers to decrease and the marginal propensity to consume to decrease
Answer: B
12.  According to the Keynesian theory of consumption:
a) Consumption levels are largely determined by “animal spirits”
b) Saving decisions are based on expectations of future income

c) Current income determines current consumption 
d) Consumer wages are “sticky” in the short-term
Answer: C
13.  If your aunt unexpectedly sends you a check for $1000, the life-cycle theory of consumption predicts 
       that:

a) You will consume the $1000 at equal intervals over your lifetime

b) You will save the $1000 for your retirement if you are under 30 years old

c) Leisure consumption will decrease immediately, then increase to its previous level

d) None of the above

Answer: D

The following scenario applies to questions 14, 15, and 16.

Suppose the federal government plans to decrease the budget deficit by $300 billion through a decrease in government spending.  Suppose also that the MPS is 0.5, and that the deficit response index is 0.2:
14.  By how much will aggregate output decrease if government spending decreases by $300 billion?
a) $300 billion
b) $80 billion
c) $430 billion 
d) $600 billion
Answer: D
15.  By how much will the government have to decrease government spending to reach its deficit 

       reduction target?
a) $80 billion
b) $500 billion
c) $300 billion
d) $600 billion
Answer: B
16.  The deficit response index is defined as:
      a)   The amount by which the deficit changes with a $1 change in government spending
      b)   The amount by which the deficit changes with a 1% change in interest rates
      c)   The amount by which the deficit changes with a $1 change in the money supply
      d)   None of the above
Answer: D
17.   According to the quantity theory of money:  M x V = _____P x Q_____ .

18.   In practice, the Federal Reserve controls ____the interest rate______ rather than the money supply.
19.   The graph showing the relationship between unemployment and inflation is called the __Phillips 
        Curve__.
20.   True/False: The aggregate supply curve is the horizontal sum of all the individual supply curves in 
        the economy.

        Answer: False
PART II. Short Answer. 10 points (each question is worth 2 points). 
Answer each question and make a drawing if requested.  You must show your work to receive full credit. 
  1.  Briefly describe the three different types of time lags that occur in stabilization policy.
Recognition lag, which is the time it takes for policy makers to recognize the existence of a boom or a slump.  Implementation lag, which is the time it takes to put the desired policy into effect once policymakers recognize the economy is in a boom or slump.  Response lag, which is the time it takes for the economy to adjust to the new conditions after a new policy is implemented.  
        2.  Suppose the federal government is following the tenets of supply-side economics.  Draw the 

             curve that shows the relationship between tax revenues and tax rates.  What is the name of this 

             curve?  Indicate the point at which the government maximizes tax revenue. 

Tax Rate (%)
 SHAPE  \* MERGEFORMAT 



This is known as the Laffer Curve.  At point A, the government maximizes tax revenue.
        3.  Suppose the economy experiences a negative cost shock, at a time when the Federal Reserve 

             initiates a contractionary monetary policy.  Draw a graph illustrating this situation.  In 

             equilibrium, what happens to the price level and aggregate output?
 SHAPE  \* MERGEFORMAT 



 A negative cost shock will shift the aggregate supply curve to the left, increasing the price level, and decreasing aggregate output.  Contractionary monetary policy will shift the aggregate demand curve to the left, decreasing the price level, and decreasing aggregate output.  Therefore, without knowing the precise shape of the AD and AS curves, and the magnitude of the shifts, the effects on prices are indeterminate, whereas aggregate output decreases.
        4.  What is meant by “sticky” wages?  What economic phenomenon does the theory of sticky wages  

             explain?  Give two reasons why sticky wages may arise.
Sticky wages occur when wages fail to fall when the demand for labor decreases.  It is an explanation for  unemployment.  Three reasons why sticky wages occur are: 1) Social, or implicit, contracts, which are unspoken agreements between firms and workers not to cut wages in times of high unemployment; 2) the relative-wage explanation of unemployment, which posits that workers are unwilling to accept wage cuts unless they know other workers are receiving similar cuts; and 3) explicit contracts that usually fix wages for a period of one to three years.  Any two of these answers are acceptable.
        5.  Briefly describe the effects of taxes and transfers on household consumption and labor supply.  
             You can assume that the substitution effect dominates when describing the labor supply decision, 

             and that output prices remain constant.
We know from the consumption function that increases (decreases) in taxes have a negative (positive) effect on consumption, and increases (decreases) in transfer payments have a positive (negative) effect on consumption.   For the labor supply decision, an increase in taxes decreases the real wage, causing workers to substitute towards leisure.  Therefore, the substitution effect causes workers to work less.  Decreases in the real wage also decrease real income, causing workers to consume less of everything, including leisure.  Therefore, the income effect causes workers to work less.  Since the substitution effect dominates, the result from an increase in taxes is a decrease in labor supply.  Similar reasoning would show that labor supply increases from a decrease in taxes.  When transfers are increased (decreased), there is a pure income effect since wages do not change, and workers consumer more of everything, including leisure.  Therefore, increases (decreases) in transfers result in decreases (increases) in labor supply.
PART III. Newspaper Analysis. 10 points (each question is worth 5 points).
Answer each question.  You must show your work to receive full credit.
1.  Read the following excerpt from an article that appeared in the Economist on March 27, 2008:
European Bond Spreads
“As the credit crunch drags on, markets are driving a harder bargain…The interest-rate spread between Germany's government bonds and those of other euro-area countries has widened sharply. The shift is most marked for countries with shaky public finances: Italy's public debt was 105% of its GDP last year; the ratio in Greece was 93%. Both countries are set to run budget deficits of 2-3% of GDP this year. But even Spain, which has low debt and a budget surplus, has been penalised.”
1.1 Define the “spread” of a bond in comparison to a riskless asset.  Which comparison asset is referred to in the article? (1 point)
The spread, or premium, of a bond is the difference between the interest rate paid on the bond, and the interest rate of a risk-free asset, usually 10-year U.S. Treasury bonds (and in this article, German government bonds).  The riskier an asset, the greater its spread.
1.2 Define the coupon and maturity of a bond. (1 point)
The coupon of a bond is its annual yield expressed as a percent of its purchase price.  The maturity of a bond is the date at which its purchase price will be repaid to the bondholder.
1.3 Describe the general pattern of deficits and surpluses as a percentage of GDP in the United States 

       since 1990. (1 point) 

In 1990, the deficit as a percentage of GDP was -2.9%.  It reached a maximum of -5.0% in the third quarter of 1992, and declined steadily to -0.4% in the fourth quarter of 1997.  Beginning in 1998, there was a surplus (reaching a peak of 2.2% in the first quarter of 2000).  However, in the third quarter of 2001, there was a deficit again of -0.9%, which grew to -4.1% in third quarter of 2003, declining to 

-2.1% in the second quarter of 2005.
1.4  Suppose one of the European countries in the article makes an effort to decrease its debt by 
       increasing taxes by 320 billion Euros.  How much of its debt will be reduced by following this policy,  

       if we assume that the MPS is 0.8, and the deficit response index is 0.5? (2 points)
Increasing taxes by 320B Euros will decrease aggregate output by 320B*(0.2/0.8) = 80B Euros.  This reduction in GDP will increase the debt by 80B*0.5 = 40B Euros.  Therefore, the total debt reduction will be 320B – 40B = 280B Euros.
2.  Read the following excerpt from an article which appeared in the Korea Times on April 1, 2008:
Korea’s Service Productivity One-Third of U.S.
“South Korea's labor productivity in accounting, consulting, design and other business-related service sectors lags far behind the United States and other advanced nations.  To join the ranks of the developed economies, accordingly, the country needs to strengthen its service industry.  
The National Statistical Office (NSO) said Tuesday, that using Korea's labor productivity in these sectors as a baseline set at 100 in 1985, the country's output in the business-supporting service sectors stood at 287.3 in 2005, substantially lower than the United States' 1,012.7.   
Japan's service industry labor efficiency came to 764.2, while the average of Britain, France, and eight other Western European nations were 713.3.”
2.1  Define labor productivity. (1 point)

Labor productivity is defined as output per worker hour: the amount of output produced by an average worker in one hour (Y/H).
2.2  Describe how and why labor productivity fluctuates over the business cycle.  Would you use 

       productivity measures to determine the health of the economy in the short run?  Why or why not?

       (2 points)

Productivity (Y/H) fluctuates over the business cycle due to firms’ holding excess labor during downturns, and re-employing it during expansions.  Therefore, the number of employee hours increases less slowly relative to output during expansions (increasing Y/H), and increases more quickly relative to output during contractions (decreasing Y/H).  Because of these cyclical fluctuations, short-run productivity figures provide an inaccurate measure of the long-run health of the economy, which is a function of technological progress and investment.  
2.3   Describe Okun’s Law.  How stable has it been over time?  Give two reasons why unemployment and 

        output may not move in tandem. (2 points)

Okun’s Law states that the unemployment rate decreases about 1 percentage point for every 3 percent increase in GDP.  Research has shown that this relationship is not as stable as the theory predicts.  Unemployment and output may not move in tandem for three reasons: 1) when output increases, firms may increase the number of hours per employee, rather than hiring new workers, or may re-employ excess labor; 2) since individuals can hold more than one job, the number of jobs can rise without the number of employed persons increasing.  Since the unemployment rate is based on this latter figure, output can rise without affecting employment proportionally; and 3) discouraged workers may once again look for work when output increases, increasing the labor force, and therefore increasing the unemployment rate, other things equal.  Any two of these reasons are acceptable.
























A


























  AS’


      AS�
�






AD’�
�






AD�
�






P�
�



























�
�






Tax Revenues ($)�
�

































              Y1         Y0         Y �
�






100





0








